a-1 1,385,520 (2,325,658)
a-2 30,655
b-1 395,318
b-2 3,506
c-1 506,169
c-2 4,490
d-1 67,516| 67516 + 127,024  + 2489 =
d-2 127,024 197,029 > 131,515
e 2,489 -
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 131,515 (131,515)
r-2 0
r-3 0
r-4 0

2,522,687

261,927
2,522,687
—_— 9.63

261,927




a-1 179,452 (354,676)
a-2 7,292
b-1 72,463
b-2 1,178
c-1 92,782
c-2 1,509
d-1 4542 4542 + 7,119 + 650 =
d-2 7,119 12,311 > 11,204
e 650 -
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 11,204 (11,204)
r-2 0
r-3 0
r-4 0
366,987
73,973
366,987 496

73,973




a-1 214,527 (722,875)
a-2 40,514
b-1 190,532
b-2 14,622
c-1 243,958
c-2 18,722
d-1 86,671| 86,671 + 66211  + 987 =
d-2 66,211 153,869 < 1,254,241
e 987 -
f 0
g 0
h 0
i 0
j 0
k 0
I 0
m 0
n 0
0 0
p 0
q 0
r-1 1,254,241 (1,254,241)
r-2 0
r-3 0
r-4 0

1,977,116

722,507
1,977,116
E—— 2.74

722,507






